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AP Calculus BC Assignment: 7.1-7.2
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2. If, for all real number z, f(z) = g(z) + 5, then on any interval [a,b] the
area of the region between the graphs of f and g is

j‘\ \ (a) 5 (b) 5a + 5b (¢) 5b — 5a (d) 5a — 5b (e) 5ab
5%

113% 33 S 0 4

Is D;(SWN’F{W ¢

0.433 0-¥33
(a) 2.525 (b) 4.049 (c) 4.328 (e) 6.289

3. The area of the region enclosed Sy the graphs of y = e —2 and y=v4— a2
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4. For the figure above, the area of the shaded region is In4 when k is => % ¢
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5. The tangent line to the graph y = €** at the point (1,e) intersects both

coordinate axes. What is the area of the triangle formed by this tangent
line and the coordinate axes? ’gl_ (13 (Ze\ = e

(a) 2e (b) €2 —1 (c) €2 (d) 2e4/e (e) 4de T

6. The area of the region betW?en the graph of y = 322 + 2z and the x-axis
. 3
fromz =1tox=31is s&‘w_x A = [XBJ«X&]: (H*c\)’(l\=34

(a) 36 (@31 ()26 (o) 12

7. The region bounded by the x-axis an the part of the graph of y = cos ()

and x = § is divided into two regions by the line x = c. If the area of the
region for 0 < z < ¢ is equal to the area of the region for ¢ < ¢ < 5, then ¢
b4 (&
must be AJCO!M M= 1 J‘(og(,‘) M = /“1 - Sm((.\=j|;~ > = ovesm(R) =
0

@i M) ©@F @WF @O
8. Let R be the region in the fourth quadrant enclosed by the x-axis and the

curve y = 2 — 2kx, where k > 0. If the area of the region R is 36, then the
value of k is o~ U =0 X=0 -
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9. What is the area of the shaded region in the figure above?
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(a) 2 (b) 7 (c) 4 (d) 2r — 1 (e) 27 }S\V‘ (D) - [-lws(i‘)’]
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10. As shown in the figure above, a square with vertices (0,0),(2,0),(2,2), and
(2,0) is divided into two regions by the graph y = —2% + 2z. If a point is
picked at random from inside the square, what is the probability that the
point lies in the region above the parabola?

11. Let f (x) be a continuous function and let A be the area of the shaded region
in the figure above. Which of the following must be true?

I. A= /f d:c
II. A= /f
III.A:/Of‘1

(a) I on (b) II only (c) III only
d) I and II only (e) I, II, and IIT
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12. The area of the region in the first quadrant enclosed by the y-axis and the

graphs of y = 3cosz and y = z is 3esd=x @ x= |.[%
\[: CAveas (%)

(a) 1.170 (b) 1.571 (d) 3.142 (e) 3.447

13. The total area between the curves y = 23 and y = z is
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14. If f is continuous function shown in the figure above, then the are aof the
shaded region is
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